

PUNJAB STATE TRANSMISSION CORPORATION LIMITED

(A Punjab Government Undertaking)

(Regd. Office: PSEB Head Office, The Mall, Patiala – 147001, Punjab,India)
Corporate Identity Number: U40109PB2010SGC033814
(O/O CE/S&D., General Section, Shakti Sadan, Patiala)

To

1) Chief Engineer/HIS&D, PSTCL, Patiala.

2) Chief Engineer/TS, PSTCL, Patiala.

3) Chief Engineer/P&M, PSTCL, Ludhiana.

4) Chief Engineer/SLDC, PSTCL, Ablowal (Patiala).

5) C.F.O., PSTCL, Patiala.

6) C.A.O., PSTCL, Patiala.

Memo No. 8664/69 /General-

Dated

16.07.19

Molit Il

SUBJECT:-

Adoption of letter no. 60526/61726/P&S/S-119 dated 01.01.19 issued by Joint Secy./General, office of SE/Personnel of PSPCL regarding increasing in rates of Summer/Winter Uniforms related to Group-C (Class-III) PSTCL employees against CE/HIS&D Agenda no. 11/CE/ HIS &D/Gen. 667 dated 25.04.19.

Board of Directors in its 54th meeting held on 11.06.19 has passed following resolution on the above subject as under:-

"RESOLVED THAT approval be and is hereby accorded for adoption of Joint Secy./General, office of SE/Personnel, PSPCL, Patiala issuing letter vide his office memo no. 60526/61726/P&S/S-119 dated 01.01.19 regarding increase in rates of Summer/Winter Uniforms in line with PSPCL as per the terms and condition in the ibid notification.

FUTHER RESOLVED THAT in case any employee is found guilty of not wearing the uniform three time in one calendar year shall automatically become ineligible for the reimbursement of cash payment of Summer/Winter Uniforms for rest of his service.

FUTHER RESOLVED THAT Director/Administration be and is hereby authorized to approve all the amendments/clarification in future to be issued by PSPCL regarding Summer/Winter Uniform of Group-'C' (Class-III) & 'D' (Class-IV) PSTCL employees".

This issues with the approval of competent authority.

DA/- 1) letter no. 60526/61726/P&S/S-119 dated 01.01.19 of PSPCL.

2) Annexure-'A' Regarding Rates

Dy. Secretary/General, P.S.T.C.L., Patiala.

grxen = 3.

5/2

Endst. No. 8670 8677 /Gen.

Dated: 16. 07.19

Copy of the above, along with copy of letter no. 60526/61726/P&S/S-119 dated 01.01.19 issued by Joint Secy./General, office of SE/Personnel of PSPCL regarding increasing in rates of Summer/ Winter Uniforms related to Group-C (Class-III) PSTCL employees is forwarded to the following for information & further necessary action please:-

- 1) P.S. to CMD, PSTCL, Patiala.
- 2) Sr. P.S. to Director/Admn., PSTCL, Patiala.
- 3) Sr. P.S. to Director/Tech., PSTCL, Patiala.
- 4) P.S. to Director/F&C, PSTCL, Patiala.
- 5) P.S. to Chief Engineer/HIS&D, PSTCL, Patiala.
- 6) All Dy. CEs/SEs under PSTCL.
- 7) All Addl. SEs/Sr. XENs under PSTCL.

Sr. XEN/IT, PSTCL, Patiala. He is requested to upload this letter alongwith letter no. 60526/61726/P&S/S-119 dated 01.01.19 issued by Joint Secy./General, office of SE/Personnel of PSPCL regarding increasing in rates of Summer/Winter Uniforms related to Group-C (Class-III) PSTCL employees on PSTCL's website immediately for the kind information of all concerned.

8678

Dy. Secretary/General, P.S.T.C.L., Patiala

C.C. :

Company Secretary/PSTCL, Patiala w.r.t. his office U.O. No. 860/BOD/ 54.20/ PSTCL dated 08.07.19.

ਪੰਜਾਬ ਮਟੇਟ ਪਾਵਰ ਕਾਰਪੋਰੇਸ਼ਨ ਲਿਮਟਿਡ (ਦਫ ਨਿਗਰਾਨ ਇੰਜੀਨੀਅਰ/ਪ੍ਰਮਾਨਲ (ਪੀ ਤੇ ਐਸ ਭਾਗ),ਪਟਿਆਲਾ)

- ਸਾਰੇ ਇੰਜੀ-ਇਨ-ਚੀਫ਼/ਮੁੱਖ ਇੰਜੀ:,ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ./ਬੀ.ਬੀ.ਐਮ.ਬੀ. 1)
- ਸਾਰੇ ਜੀ.ਐਮ. ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 2)
- ਸਾਰੇ ਨਿਗਰਾਨ ਇੰਜੀਨੀਅਰ ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 3)
- ਸਾਰੇ ਕਾ:ਕਾ:ਇੰਜੀ: ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 4)
- ਮੁੱਖ ਲੇਖਾ ਅਫ਼ਸਰ, ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 5)
- ਮੁੱਖ ਆਡੀਟਰ, ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 6)
- ਮੁੱਖ ਕੰਟਰਲਰ ਵਿੱਤ, ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 7)
- ਰੈਜੀਡੈਂਟ ਆਫ਼ਿਟ ਆਫ਼ੀਸਰ, ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 8)
- ਸੀਨੀ.ਕਾ:ਕਾ:ਇੰਜ:/ਆਈ.ਆਰ.ਅਤੇ ਵੈਲਫੇਅਰ ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 9)
- ਭੌਂ ਪ੍ਰਾਪਤੀ ਕੁਲੈਕਟਰ, ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 10)
- प्रिंमीयल, टी.टी.ਆਈ., ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 11)
- ਸਾਰੇ ਉਪ ਸਕੱਤਰ/ਅਧੀਨ ਸਕੱਤਰ, ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 12)
- ਸਾਰੇ ਸੁਪਰਡੈਂਟ/ਸਹਾਇਕ ਮੈਨੇਜਰ ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ. 13)
- ਸਾਰੇ ਸੀਨੀ.ਪੀ.ਐਸ./ਪੀ.ਐਸ.,ਅਧੀਨ ਪੀ.ਐਸ.ਪੀ.ਸੀ.ਐਲ.

ਮੀਮੋ ਨੰ:60526/61726 /P&S/S-119. ਮਿਤੀ: 112019

ਵਿਸ਼ਾ:

ਅਜੰਡਾ ਨੰ: 02/ਪੀ.ਐਂਡ ਐਸ. ਮਿਤੀ 15.11.2018 ਅਨੁਸਾਰ PSPCL ਦੇ Group-2 (ਦਰਜ਼ਾ-3) ਕਰਮਚਾਰੀਆਂ ਨੂੰ ਮਿਲਣ ਵਾਲੀ ਠੰਡੀ ਵਰਦੀ, ਗਰਮ ਵਰਦੀ ਅਤੇ ਹੋਰ ਲਿਬਰੀਜ਼ ਦੇ ਰੇਟਾਂ ਵਿੱਚ ਵਾਧਾ ਕਰਨ ਬਾਰੇ।

ਉਪਰੋਕਵ ਵਿਸ਼ੇ ਵਿੱਚ ਦਰਸਾਇਆ ਅਜੰਡਾ ਬੋਰਡ ਆਫ ਡਾਇਰੈਕਟਰਜ਼ ਦੀ 72ਵੀਂ ਮੀਟਿੰਗ ਜ਼ੋ ਮੋਹਾਲੀ ਵਿਖੇ ਮਿਤੀ 21.11.18 ਨੂੰ ਹੋਈ ਸੀ, ਵਿੱਚ ਵਿਚਾਰਿਆ ਗਿਆ ਅਤੇ ਹੇਠ ਲਿਖੇ ਅਨੁਸਾਰ ਫੈਸਲਾ ਲਿਆ ਗਿਆ:-

"RESOLVED THAT approval be and is hereby accorded to revise the norms to double the rates of summer/winter season uniforms and other articles admissible to group-C (Class-III) employees of the Company as mentioned in Memo No. 154581/155186 dated 27.10.95."

ਇਹ ਰੇਟ ਇਸ ਪੱਤਰ ਦੇ ਜਾਰੀ ਕਰਨ ਦੀ ਮਿਤੀ ਤੋਂ ਲਾਗੂ ਹੋਣਗੇ।

ਇਹ ਸਮਰੱਥ ਅਧਿਕਾਰੀ ਦੀ ਪ੍ਰਵਾਨਗੀ ਨਾਲ ਜਾਰੀ ਕੀਤਾ ਜਾਂਚਾ ਹੈ ਜੀ।

ਸਯੁੰਕਤ ਸਕੱਤਰ/ਜਰਨਲ, ਦਫ: / ਨਿਗਰਨ ਇੰਜੀਨੀਅਰ/ਪ੍ਰਸੋਨਲ, ं (भै:म:भा: त्या: लि:, भिरामाला।

ਕੰਪਨੀ ਮਕੱਤਰ, PSPOL,ਪਟਿਆਲਾ ਨੂੰ ਉਹਨਾਂ ਦੇ ਅਰਧ ਸਰਕਾਰ ਪੱਤਰ ਨੰ:3546/BOD-72.67/2013/ PSPC ਼ੀਮਤੀ 11.12.18 ਦੇ ਹਵਾਲੇ ਵਿੱਚ।

(Annexure-'A')

Rates of Summer/Winter Uniforms of Class-III Employees.

Summer Uniform for Class-III (Male)

| Sr. | Summer Uniform | article & Scale | Renewal period | Old rates | | New rates | |
|-----|--|----------------------------------|-------------------|---------------------------|------------------------|---------------------------|------------------------|
| | | | | Class-III (all employees) | Class-III (drivers) | Class-III (all employees) | Class-III (drivers) |
| 1 | a) 2 sets consisting of two pants and two shirts (Khaki terricot) b) Two no. turbans | 1.37 widths 2.65 Length | 2 Years | 469/- | 469/- | 938/- | 938/- |
| 2 | Stiching charges (Two sets) | - | 2 Years | 176/- | 176/- | 352/- | 352/- |
| 3 | Chappal (per Pair) | - | 2 Years | 70/- | MA. | 140/- | - |
| 4 | One pair of black shoes (only for drivers) | | 2 years | - | 119/- | - | 238/- |
| | Total | | | 715/- | 764/- | 1430/- | 1528/- |

Summer Uniform for Class-III (Female)

| Sr. no. | Summer Uniform | article & Scale | Renewal period | Old rates | New rates |
|------------|--|---|----------------|-----------|-----------|
| 1 | (a) 2 sets consisting of two no. shirts and two no. salwar (white terricot 67% polyster & 33% cotton) (b) Three no. dupattas (Sky blue bumber/Georjet). | a) 4.50 mtr. Per set b) 2.25 Mtr per dupatta | 2 Years | 396/-/- | 792 |
| 2 | Stiching charges | - | 2 Years | 76/-/- | 152/- |
| 3 | Chappal (sandal) | - | 2 Years | 70/- | 140/- |
| | Total | | - | 542/- | 1084/- |

Winter uniform Class 3rd (Male Employees)

| Sr. no. | Summer Uniform | article & Scale | Renewal period | Old rates | | New rates | |
|------------|---|--------------------|-------------------|----------------------------|--------------------------|----------------------------|--------------------------|
| | | | | Class-III all employees | Class- III drivers | Class-III all employees | Class- III drivers |
| 1 | (a) One set (consisting of one Coat and one woollen pant) | 2.96Mtr per set | .3 Years | 500/- | - | 1000/- | |

Winter uniform Class 3rd (Female Employees)

| Sr. | Summer Uniform | article & Scale | Renewal period | Old rates | New rates |
|-----|---|--|-------------------|-----------|--------------|
| 1 | (a) One suit of Khaki Woollen serge or angola cloth (consisting of one shirt and one salwar) (b) One Shawl blue/ khaki color (standard size) (c) One dupata (Bumber /Goorjet) | 3.50 mtr. Per set Standard size 2.25 Mtr | 3 Years | 500/- | 1000/- |
| 2 | Stiching charges | - | 1 18 1 | 50/- | 100/- |
| 3. | One no. Khaki Cashmillon Jersey | | 3 years | 113/- | 226/- |
| 4. | One pair of shoes | and the second s | 2 years | 119/- | 238/- |
| | Total | | | 782/- | 1564/- |

